RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, FL-16092.3

™

\ R
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8400 Series

Vinyl Horizontal Sliding Window

"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010
Florida Building Code (FBC) structural requirements excluding the
"High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing
or stucco.

When used in areas requiring wind borne debris protection this
product is required to be protected with an impact resistant covering
that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the
same as that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered
architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes
Horizontal cross sections

Vertical cross sections

Buck and frame anchoring

Components

Bill of materials & glazing details

O~ || | N | =

112" MAX. O.A. FRAME WIDTH

110.0" X 62.0"

33.0" X 54.0" Gl +50.0

-50.0

[=—- 34" MAX. D.L.O. WIDTH ——=
/ / /
A 4// VA
/ / /
y E
g 9
< O
S % X O X
% =
= 3
I/ ."/ //
4 V4 v
/ / /
XOX SHOWN
XXX ALSO APPROVED

2 ¢ g
n Bm o <
: M Q)._Nn
%l") .Em Py
£ .~ 20 N
P e T B
2] "_oh\z
Eo% g2 .
<22 5 ¢ ul
B 50 38, \ o
a>" 90 o
Zow o5& el
;\0") g £
ON - O ¢
) s .5 £
2 95Z 0<% 0
Eamﬂ)‘ou— ™
& 2586 8°
2= LC 0 g <
ngmn.&mg g
n § o2 5
) 0 x -
£ Tt
] oo
181
3
7]
0
o
%]
L
Z =
a2
<
<
¢ | &
= v g
) 5%:0
2 g—da‘a
5 i W
. S5
= x| =
5 8 &0
o =l
o=
2 S
o o
2l>=
Sl
4 o
Z| |1Z
3 e
= o
2l &
G| |
=
0
o
5]
o
o
<
"n
Ll
BE
;_\D
~lo
=
DATE: 12/05/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-16092.3

SsHEET 1 oOF 6

© 2012 R.W. BUILDING CONSULTANTS INC.



TAN| BLNYLINENQD BNIGTHNA "M'H 2 LOE

60¥CH 'ON I'd 'IPIUYDS "4 dopukl SNOISIAIY
22 4 SNOLJI® 55060 A8 Enamo N I P
i Hornddiny 30 S10ouHe0 541 SIONVIS DHINSOD aav|ci/#0/v | ¢ [N |wWiX|L Sl
ssasulbul jpuoissajold jO picog DPILOH SATIWASSY 4O LYvYd % = - L 9 o
LBLE'6GH'CLE "ON BuoUd NG gL 2_
SBSEE T4 OSUIBA 0£Z xof .o.n_\Sv@. m & =g I
ONI 'SINVLINSNOD ONigIIng S343S 00+8 G m N ™ &
1Ag patpdeld Sjuswnoag *1oNa0yd W RQIE|S W &
1
@] 3
k4 O
&
: ~0 tu
— e ]
o~ bt d e
# 3l
a5
(S11=
-l o
O 3l
—_ (8]
Za nNu o
z 2z &2
o X a3
o| IE 26
i be sk
o i
] —
a w oeN
Q g mv
-4 ™ w.m
-] =
Fel m
m m 1/
S1F
5)s
Qla
5
mw
i
[/
- ® .
O
[ -
(§)
LLE
—— %)
- a
o]
B __ = S
! ; B3
L) .‘?c.‘...mw,. —
Il,.y// _ E rf.— —lt‘ —m
e i
.
S
x | 5
y x
=3 (274
,/u.f// Ll o
= N m
m— s ¥/l i
[/4
/f/f,,//f.
(HINE = g
|3
| ) - = m
t/tt. n
> S 2
vy
~ a
-Vf.ii :O_. o
// -~ o N (=4
OIS
33
[ P
x Zo 2
= O3
lM rwW 9
W oc| 2
- == Q|2
D ?,;:M/// — Ut =~ ot
mw
S/

£ BMPg-TZ609T-14\3PIS [EIUOZLOHNGLIT 3d\DOLT - TO9T [01d\SIaPI04 108{01d\s10304d - YA



*ON} BLNVLINSNOD SNIGUN8 "M'H 2102 5

SObEY "ON “Fd ‘IPILUDS 'y UOPUuA SNOISIATY
S122 0 E mzommwmmw\m,,o% A8 33 JONJovt | f 1 ™ 6_
crge oy veema el s s41 S3INVTS_OUINS0D aav|er/vofp | L NI |XIn| &
sJeaulBul |ouoissajold 0 pioog DPLIO(S SATHNEFSSY d0 1¥vd % _M - MW o
£BLE'EE9'CLE ON PUoYd W B g = 3_
SBGEE 14 O2MDA 0€Z %08 'O'd \h\w\._mu - BiElg !
"ONI “SINVLINSNOD ONIAINS S3M3S 008 gl ¢|E o &
:Ag peaJodsaid SUsWINDOQ LINAGHd S|81&815|8 Fi
{dALl aw3
(‘dAL} "gW3 NIW L L
NIW .F/1-1 o
& &
‘a...v, ] m .q ._. .
” d ...,v‘.M M m m “ 1?- w
m.n‘ Ac‘, - n i A v .lTll
e a = C & . C
. e 9 z (1] AN i W.l
g v . - + (771 .,,,.,.,_,.;.,:,_,,.,f__,,__ ..,,.1. | &
: % o a2
¥ L] N F . v v T o ¥ | O
o Ol L (@] £
= f Oc nw v v ("4 m
K LS | by S 16 ] e
= = 3|z e -~ 8
. LA Toms
s ! 8] 2z o F Y [ m T
o =c L : =|c
PR 0 = / E m 2 % SRS m z
) ERAN = 5 B L4 =15
S oo o . ™im
S mv O AU
o 24
: 2
&5 i
— 0 ~0 [Te)
b
X
[0 £z
|
\ &%
Ve ”
(dAll w3 _, _
{'dAl) "gw3 NIW . #/ -1
e D> & 0 SIOIO
(274
YA ATAATOTE o) _ \f\\
— — [ —— ] aandl
<t * ‘
A F. LT,
. - s e N
L] = L . | -IOI
IRE] 44 ¢.",._. yi i ..ﬂn v -C-l
. h L v - E
T = d LT AT S ol
AR X T k S e
i e w T R L >
A MZ
Y = B LA >
. ~ D / = = F. » C W
v - N =1
R - g 1 K4 b W
R e o
. R -5
- e M v [7%]
. =74
o
& i
=
i
=@
® ©O &

£2 ‘BMpa-1Z605T-14\2PIS BWOZUOH\GL9T 2d\DOLT - 1091 foud\siap|od Lafoid\sioalold - vy



a & ‘:33
I R
Qm £ o <+
LN AN
et N
C 28§ 5»& Ny
23,k 0 .
MEETING STILE 55 ¢ 2o EE 2
. —— 4 MEETING STiLE : L I T
2 o e 7 3 3 P} g g3z Z
—— e (FYP) - e — (TYP) (TYP) 65" 5§80 2es N\«
Ry / (TYP.) ; / P §5088, T«
v et e T e e T A . L Daon @ g
L _}, }' |= H— ii f 1 T s - o = - : ; £ _'gf:g 5
1 Lo ’W | s 5%
i | | e ! 0y T 598 °F
| i s S X i
fod I I Yz foed | X
s | | N (TYP.) g {TYP. @ HEAD)
Il | A 2X BUCK | |
2X T X N T A - @ | 2XBUCK N o
BUCK | 1 lX Buck || 1X BUCK H o BUCK Q 2
MASONRY )l Il 2X BUCK N\ piRecrio | DIRECT 1O L £ Q ~E
OPENING Nl | MASONRY MASONRY | | MASONRY H 1X BUCK g & " 25
: ¥ OPENING “J-YAF;\AB@ i | (TYP.@ I DIRECTTO & 9 E X::?E
13 A 1 ) ; | HEAD) ] MASONRY — — i 8 |Z Sw
| P < | O=
I | | N e - F [ > 9 "=
e <E e I P ¥ el
CI) | [ | =z~ EIRE ] 8 o
"'v. -] ' | i E ;Ea Q "v_. Ny H I | | [ A —
AL Al : [ | 1 I | L - -
et = = = : > . ol
' -' -q".‘ v ..q' “'t\ : “ L] * A v ..; .“\ -—_E L 5" i
4 s 4 o {TYP) 7.5 (P
BUCK ANCHORING FRAME ANCHORING ”
’ Lot
Sl w»
Z| =
o 5
of iy
1
CONCRETE ANCHOR NOTES: b &
1. Subsfitution of equal concrete anchors from a different supplier may have §
different edge distance and center distance requirements. o
2. Concrete anchor locations at the corners may be adjusted fo maintain 2
the min. edge distance fo mortar joints. If concrete anchor locations -
noted as "MAX. ON CENTER" must be adjusted to maintain the min, edge N
distance to mortar joints, additional concrete anchors may be required to Sz
ensure the "MAX. ON CENTER" dimensions are not exceeded. S°
3. Concrete anchor table; 1S
prd
DATE: 12/05/12
SCALE:  N.T.S,
W 1/4" 1-1/4 2.1/2 3 BWG. BY: JK
- - CHK. BY: LFS
ELCO 1/4 1-1/4 1 4" DRAWING NO.:
FL—16092.3
SHEET _4 oF 6

RMA - Projects\Project Folders\Proj 1601 - 1700\PF 167%\Horizontal Slider\FL-16092.1-.6.dwg, 4.3

© 2012 R.W, BUILDING CONSULTANTS ING.



R\ - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, 5.3

- 204"

e 1.42" —]

( : ) SLIDER PULL STILE

t h—].?"—l—_—]—;—!

—eoet e 0,07"

( : ) KEEPER STILE

1.24"

——i T‘—OW"
0.0¢"
N

. REINFORCEMENT
Common Rail

( : )I‘.OCKSTH.E

l—-— 0.45"
0.0¢"

( : ) GLAZING BEAD

S
(: :) REINFORCEMENT
Lock Stile

0.89"

1

1

fe— 1,42" —=]
=4 ]| =
q f I
i
(=]
(]
@ SLIDER COMMON RAIL

0.82"

REINFORCEMENT
Keeper and Pull Stile

|

244"

392

| B =)

L 1"

05 a3

224

2.8"

FRAME

1.25

__j r 0.34"

0.08"

— i - (). 24"

ravra )

L— 1.35" ——J

SILLTRACK
Full width

L

—| | 0.07"

0.61"

1

@ SLIDER SASH RETAINING CLIP

i

______ ELS. 4
T T T T T [ niiinTd
i i 1!

i E] il

b # b il
S S |
(5] g (w

. AF36 {1-1/2" Brick Mould)

n
i n m
i ! i
. i iy
[T T L H
W T TTAarTTEEEE Sl
"Jf 1] P il
] 1] # !
Iy 1] H 1!
S | S R
[£] R (i vy

AF5% {Masonry Flange 1)

V472 {Masonry Flange 2)

OPTIONAL COSMETIC FLANGES

0.3

——1.16" =

i—-—-—— 0.7"
HEAD TRACK
&" Long

0.08"

- 1.21"

—={ 037"

N

0.67"

. FLANKER STOP

i 0.09" —-—i |—-‘

e p Mg
m o Sm L9
- Ky [T} -
Um £5 W7
>z 'alﬂ <
£ N Po R
3 (= .
k. A -
o v-_oh\z
5 o® o2 )
i@ s u
Soem] e
u'))":’ﬂg +
ZOow btT =)
. DM LB E
N oo b
i) S £
ngu-:l <
328 °4\3"’
5§ ¢85 w
ﬂ.—oOU
P RAcad2 3
0. D he]
E:§ o 2 <
] & ry
C = 1
[ o0
‘R
3
Q
o
a
% 2
= =
s L
Ll . =
» a0 ©
o S
= 5]
w 0 ©
<
I o
[
8 o
o e
[F <
e o
Qi
Simo
w
=
o
\n
=
[}
o

4/04/13 |UPDATE FRAME SIZE/DP/GLZ

1

L
<«
i
0
z
2z

pate: 12/05/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. 3r: LFS

DRAWING NO.:
FL—-16092.3

SHEET 5 oF 6

© 2012 R.W. BIILRDING CONSULTANTS IND.



RMA - Projects\Project Foiders\Proj 1601 - 1700\PF 1679\Horizontal Stider\FL-16092.1-.6.dwg, 6.3

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL

A | IXBUCK SG >= 0,42 WOOD
B | 2X BUCK 5G >= 0.42 WOOD
C | 1/4" MAX. SHIM SPACE -

D |1/4 X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
e | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACT | 3\ et

301 OR HOLLOW BLOCK CONFORMING TO ASTM C50

F__ | #10X 3 PPH WOOD SCREW STEEL
G | #10 X 1-3/4" PPH WOOD SCREW STEEL
H | #10X2-1/2' PPH WOOD SCREW STEEL
1174 X 2-1/4" TW CONCRETE SCREW STEEL
K |1/4 X 3-1/4" TW CONCRETE SCREW STEEL
L | 1/4'X 33/4 TW CONCRETE SCREW STEEL
1 | FRAME® PVC
2 | SLIDER PULL STILE® PVC
3 | LOCK STILE* PVC
4 | KEEPER STILE* PVC
5 | GLAZING BEAD* PVC
6 | SLIDER COMMON RAIL* PVC
7 | BALL BEARING ROLLER -

8 | WEATHERSTRIP (0.2307) .

9 | WEATHERSIRIP (0.3807] -

11 | SILLTRACK ALUM
12 | HEAD TRACK ALUM
14| SUIDE RAIL REINFORCEMENT ALUM
15 | REINFORCEMENT ALUM
16 | REINFORCEMENT ALUM
17| SLIDER SASH RETAINING CLIP ALUM
18 | #8 X 1" PFH SMS STEEL
19 | FLANKER STOP NYLON
22 | #8 X 58 (#6 hoad) PFH SMS STEEL

* THE APPROVED WHITE RIGID PYC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

1/2" GLASS
BITE

3

116" X 12
GLAZING TAPE
BY LAMATEK

——— 1" THICK GLASS

1/8" ANNEALED

¥/

C:) GLAIING DETAIL

|

AIR SPACE

1/8" ANNEALED
INTERCEPT SPACER

7N

7 S o
)] b
& g0 8
- 0
[ S0 .Em . o
Z o
PELE AN
w‘“—-—nsz
283 2 W
£Efn ocx ut
J g0 7.2 o
D3 g .
n- el "
Zom 61 2
o DM 5 £
S B R TR
n pre] £
xou»J &
v%uzo [
95030-5.._ ™
g5 ccd
D.—OOU ¢
F3iE82 3
a.m 8 1'::!
2 g%:e 3
T Ty
v ]
LR &
p=)
9
Q
A
(73]
i
%3] =X o<
L =
& Ha
“n a2 =0
[a] =
S 3w/
¥ ol ©
Q ]
< o®
= | @Y
5]
8 Q
2 Z
a o
Dl
[

REVISIONS

4/04/13 |ADD COSMETIC FLANGES

1

i
<
o
o
=
2

0ATE: 12/05/1

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—16092.3

SHEET 6 oF 6

@ 20312 R.W. BUILDING CONSULTANTS INT.



